Workpiece pallets

Permissible workpiece pallet load

The permissible load from the
conveyed goods is calculated based
on the permissible WT total mass less
the weight of the workpiece pallet
itself including supports and special
equipment etc.

The permissible total mass depends on
the length of the workpiece pallet |, ,,
and on the roller spacing.

The carrying force per roller is 50 kg,
and the WT must always be on at least
3 rollers. The resulting load limits for the
longitudinal conveyor are illustrated in
the graphic.
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